Circumference

Nome:

Oate:

Use m = 3.14. Bound answers o 2 decimal ploces.

1. Find the Circumference.

2. Find the Circumference.

3. Find the Circumference.

&

4. Find the Circumference.

5. Find the Circumference.

6. Find the Circumference.

7. Find the radius, f C = 40 in.

0

8. Find the diomefer, if C = 79.5 yad.

9

037.68 015.70 028.09 06.37 06280 09.73 02532 01570 09.25 02512 16




Arc Length Name:

Oate:

Find x. Bound answers o 2 decimal ploces.
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01884 06.28 02.09 06.28 0735 0993 0942 013.08 0872 0O14.65 17




